

FURTHER INTERPOLATION INEQUALITIES RELATED TO ARITHMETIC–GEOMETRIC MEAN, CAUCHY–SCHWARZ AND HÖLDER INEQUALITIES FOR UNITARILY INVARIANT NORMS

MOHAMMAD AL-KHLYLEH* AND FADI ALRIMAWI

(Communicated by J.-C. Bourin)

Abstract. An inequality for matrices that interpolates between the Cauchy-Schwarz and the arithmetic-geometric mean inequalities for unitarily invariant norms has been obtained by Audenaert. Alakhrass obtained a related result to Audenaert's inequality using a log-convex function g defined on $[0, 1]$. Very recently, Zou obtained an inequality for matrices that unifies Hölder's inequality and the arithmetic-geometric mean inequality for unitarily invariant norms. A generalized version of Zou's inequality for unitarily invariant norms is given, and an alternative proof of Audenaert's inequality using a refined version of Alakhrass's function is presented.

1. Introduction

Let $M_n(\mathbb{C})$ be the space of all $n \times n$ complex matrices, and let $||| \cdot |||$ on $M_n(\mathbb{C})$ denote the unitarily invariant norm. Let $s_1(A) \geq s_2(A) \geq \dots \geq s_n(A)$ denote the eigenvalues of $|A| = (A^*A)^{\frac{1}{2}}$ arranged in a decreasing order, i.e., the singular values of A where $A \in M_n(\mathbb{C})$. If $s_i(A) \in \mathbb{R}$ for $i = 1, 2, \dots, n$, then we write them as $\lambda_1(A) \geq \lambda_2(A) \geq \dots \geq \lambda_n(A)$. It is known that $s_i(A^*) = s_i(|A|) = s_i(A)$ for $i = 1, 2, \dots, n$ where $A \in M_n(\mathbb{C})$. The Ky Fan norm of $A \in M_n(\mathbb{C})$ is $\|A\|_{(k)} = \sum_{i=1}^k s_i(A)$, for $k = 1, 2, \dots, n$. The Fan dominance theorem (see [5, p. 93]) asserts that $\|A\|_{(k)} \leq \|B\|_{(k)}$ for $k = 1, 2, \dots, n$ if and only if $\|A\| \leq \|B\|$ for every unitarily invariant norm. For more about the unitarily invariant norms, we refer the reader to [5, 14].

The arithmetic-geometric mean inequality for singular values of matrices, which has been obtained in [8], asserts that

$$s_j(A^*B) \leq \frac{1}{2} s_j(AA^* + BB^*) \quad \text{for } j = 1, 2, \dots, n, \quad (1)$$

for all $A, B \in M_n(\mathbb{C})$. The unitarily invariant norm version of the inequality (1) says that

$$\|A^*B\| \leq \frac{1}{2} \|AA^* + BB^*\|. \quad (2)$$

Mathematics subject classification (2010): 15A18, 15A60, 47A30.

Keywords and phrases: Singular value, unitarily invariant norm, inequality, interpolation.

* Corresponding author.

A generalization of the inequality (2), which has been obtained in [6, 12], asserts that

$$\| |A^*XB| \| \leq \frac{1}{2} \| |AA^*X + XBB^*| \|, \tag{3}$$

for all $A, B, X \in M_n(\mathbb{C})$.

The Cauchy-Schwarz inequality for unitarily invariant norms of matrices says that

$$\| |A^*B| \|^2 \leq \| |AA^*| \| \| |BB^*| \|, \tag{4}$$

for all $A, B \in M_n(\mathbb{C})$.

Here are some generalizations of the inequality (4),

$$\| |A^*B|^r \|^2 \leq \| |(AA^*)^r| \| \| |(BB^*)^r| \|, \tag{5}$$

$$\| |A^*B|^r \| \leq \left\| \left| (AA^*)^{\frac{rp}{2}} \right| \right\|^{\frac{1}{p}} \left\| \left| (BB^*)^{\frac{rq}{2}} \right| \right\|^{\frac{1}{q}}, \tag{6}$$

$$\| |A^*XB| \|^2 \leq \| |AA^*X| \| \| |XBB^*| \|, \tag{7}$$

$$\| |A^*XB|^r \| \leq \left\| \left| |AA^*X|^{\frac{rp}{2}} \right| \right\|^{\frac{1}{p}} \left\| \left| |XBB^*|^{\frac{rq}{2}} \right| \right\|^{\frac{1}{q}}, \tag{8}$$

for all $A, B, X \in M_n(\mathbb{C})$, $r \geq 0$, and $p, q > 1$ such that $\frac{1}{p} + \frac{1}{q} = 1$. The inequality (5) has been obtained by Horn and Mathias in [9], while the inequality (6) has been obtained by Horn and Zhan in [11], and the inequality (8) firstly introduced by Kosaki in [13]. Note that the inequality (6) is the Hölder’s inequality for unitarily invariant norms of matrices. A closer look at the Cauchy-Schwarz inequality and its applications can be found in [7].

Using some calculations, it can be found in [2] that the inequality (3) leads to the inequality (7).

Audenaert in [4] proved that

$$\| |A^*B|^r \| \leq \left\| \left| (\alpha AA^* + (1 - \alpha)BB^*)^{\frac{rp}{2}} \right| \right\|^{\frac{1}{p}} \times \left\| \left| ((1 - \alpha)AA^* + \alpha BB^*)^{\frac{rq}{2}} \right| \right\|^{\frac{1}{q}}, \tag{9}$$

for all $A, B \in M_n(\mathbb{C})$, $r \geq 0$, $p, q > 1$ such that $\frac{1}{p} + \frac{1}{q} = 1$, and for all $\alpha \in [0, 1]$. The inequality (9) interpolates in a natural way between the inequality (2) and the inequality (6).

Very recently, a generalization of the inequality (9) has been given in [15]. This generalization asserts that

$$\| | |A^*XB|^{2r} \| \leq \| | |\alpha AA^*X + (1 - \alpha)XBB^*|^{rp} \| \|^{\frac{1}{p}} \times \| |(1 - \alpha)AA^*X + \alpha XBB^*|^{rq} \| \|^{\frac{1}{q}}, \tag{10}$$

for all $A, B, X \in M_n(\mathbb{C})$, $p, q > 1$ such that $\frac{1}{p} + \frac{1}{q} = 1$, $r \geq \max \left\{ \frac{1}{p}, \frac{1}{q} \right\}$, and for all $\alpha \in [0, 1]$. The inequality (10) interpolates between the inequalities (3) and (8).

Alakhrass obtained in [1] a log-convex function g defined on $[0, 1]$ and satisfies the following

$$\begin{aligned} \||A^*XB\|| &= g\left(\frac{1}{2}\right) \leq g(\alpha) \\ &\leq \||\alpha AA^*X + (1 - \alpha)XBB^*\|| \|| (1 - \alpha)AA^*X + \alpha XBB^*\||, \end{aligned} \tag{11}$$

for all $\alpha \in [0, 1]$.

In Section 2, we prove a generalization the inequality (10). In Section 3, we introduce an alternative proof of the inequality (9), this proof presents implicitly a refinement of (11) for the special case when $X = I$.

2. Main result

We will use the following lemmas, which can be found in [5], to start our work.

LEMMA 1. *If $A \in M_n(\mathbb{C})$, then*

$$\prod_{j=1}^k |\lambda_j(A)| \leq \prod_{j=1}^k s_j(A),$$

for $1 \leq k \leq n$.

LEMMA 2. *If $A, B \in M_n(\mathbb{C})$, then*

$$\prod_{j=1}^k s_j(AB) \leq \prod_{j=1}^k s_j(A) \prod_{j=1}^k s_j(B),$$

for $1 \leq k \leq n$.

And we need the following lemmas which can be found respectively in [3] and [15].

LEMMA 3. *Let $A, B \in M_n(\mathbb{C})$ be a positive semidefinite matrices and let $0 \leq \alpha \leq 1$. Then*

$$s_j(A^\alpha B^{1-\alpha}) \leq s_j(\alpha A + (1 - \alpha)B),$$

for $1 \leq j \leq n$.

LEMMA 4. *Let $A, B, X \in M_n(\mathbb{C})$ where X is positive semidefinite, $p, q > 1$ such that $\frac{1}{p} + \frac{1}{q} = 1$, $r \geq \max\left\{\frac{1}{p}, \frac{1}{q}\right\}$. Then*

$$\||\left(\alpha X^{\frac{1}{2}}AA^*X^{\frac{1}{2}} + (1 - \alpha)X^{\frac{1}{2}}BB^*X^{\frac{1}{2}}\right)^{rp}\|| \leq \|| |\alpha AA^*X + (1 - \alpha)XBB^*|^{rp}\||,$$

and

$$\||\left((1 - \alpha)X^{\frac{1}{2}}AA^*X^{\frac{1}{2}} + \alpha X^{\frac{1}{2}}BB^*X^{\frac{1}{2}}\right)^{rq}\|| \leq \|| |(1 - \alpha)AA^*X + \alpha XBB^*|^{rq}\||,$$

for all $\alpha \in [0, 1]$.

We start our results with the following theorem.

THEOREM 1. *Let $A, B \in M_n(\mathbb{C})$ and $\frac{1}{p} + \frac{1}{q} = 1$, $p, q > 1$, $r \geq 0$. If f_1, f_2, g_1, g_2 are non-negative continuous functions such that $f_1(t)f_2(t) = t$ and $g_1(t)g_2(t) = t$ for $t \geq 0$, then*

$$\begin{aligned} ||| |A^*B|^r ||| &\leq \left\| \left(\alpha f_1^{\frac{1}{\alpha}}(AA^*) + (1-\alpha)g_1^{\frac{1}{1-\alpha}}(BB^*) \right)^{\frac{r}{2}} \right\| \left\| \right\|_p^{\frac{1}{p}} \\ &\times \left\| \left((1-\alpha)f_2^{\frac{1}{1-\alpha}}(AA^*) + \alpha g_2^{\frac{1}{\alpha}}(BB^*) \right)^{\frac{r}{2}} \right\| \left\| \right\|_q^{\frac{1}{q}}, \end{aligned} \tag{12}$$

for all $\alpha \in [0, 1]$.

Proof. For any $k = 1, 2, \dots, n$, using Lemmas 1, 2 and 3, we get that

$$\begin{aligned} \prod_{j=1}^k s_j (|A^*B|^r) &= \prod_{j=1}^k \lambda_j^{\frac{r}{2}} (B^*AA^*B) \\ &= \prod_{j=1}^k \lambda_j^{\frac{r}{2}} (AA^*BB^*) \\ &= \prod_{j=1}^k \lambda_j^{\frac{r}{2}} (f_2(AA^*)f_1(AA^*)g_1(BB^*)g_2(BB^*)) \\ &= \prod_{j=1}^k \lambda_j^{\frac{r}{2}} (f_1(AA^*)g_1(BB^*)g_2(BB^*)f_2(AA^*)) \\ &\leq \prod_{j=1}^k s_j^{\frac{r}{2}} (f_1(AA^*)g_1(BB^*)g_2(BB^*)f_2(AA^*)) \\ &= \prod_{j=1}^k s_j^{\frac{r}{2}} \left(\left(f_1^{\frac{1}{\alpha}}(AA^*) \right)^\alpha \left(g_1^{\frac{1}{1-\alpha}}(BB^*) \right)^{1-\alpha} \left(g_2^{\frac{1}{\alpha}}(BB^*) \right)^\alpha \left(f_2^{\frac{1}{1-\alpha}}(AA^*) \right)^{1-\alpha} \right) \\ &\leq \prod_{j=1}^k s_j^{\frac{r}{2}} \left(\left(f_1^{\frac{1}{\alpha}}(AA^*) \right)^\alpha \left(g_1^{\frac{1}{1-\alpha}}(BB^*) \right)^{1-\alpha} \right) s_j^{\frac{r}{2}} \left(\left(g_2^{\frac{1}{\alpha}}(BB^*) \right)^\alpha \left(f_2^{\frac{1}{1-\alpha}}(AA^*) \right)^{1-\alpha} \right) \\ &\leq \prod_{j=1}^k s_j^{\frac{r}{2}} \left(\alpha f_1^{\frac{1}{\alpha}}(AA^*) + (1-\alpha)g_1^{\frac{1}{1-\alpha}}(BB^*) \right) s_j^{\frac{r}{2}} \left(\alpha g_2^{\frac{1}{\alpha}}(BB^*) + (1-\alpha)f_2^{\frac{1}{1-\alpha}}(AA^*) \right), \end{aligned}$$

and so

$$\begin{aligned} \prod_{j=1}^k s_j (|A^*B|^r) &\leq \prod_{j=1}^k s_j^{\frac{r}{2}} \left(\alpha f_1^{\frac{1}{\alpha}}(AA^*) + (1-\alpha)g_1^{\frac{1}{1-\alpha}}(BB^*) \right) \\ &\times s_j^{\frac{r}{2}} \left((1-\alpha)f_2^{\frac{1}{1-\alpha}}(AA^*) + \alpha g_2^{\frac{1}{\alpha}}(BB^*) \right). \end{aligned} \tag{13}$$

Now let $L = X^{\frac{r}{2}}$ and $M = Y^{\frac{r}{2}}$ where

$$X = \text{diag}(s_1(\alpha f_1^{\frac{1}{\alpha}}(AA^*) + (1-\alpha)g_1^{\frac{1}{1-\alpha}}(BB^*)), \dots, s_n(\alpha f_1^{\frac{1}{\alpha}}(AA^*) + (1-\alpha)g_1^{\frac{1}{1-\alpha}}(BB^*))),$$

$$Y = \text{diag}(s_1((1-\alpha)f_2^{\frac{1}{1-\alpha}}(AA^*) + \alpha g_2^{\frac{1}{\alpha}}(BB^*)), \dots, s_n((1-\alpha)f_2^{\frac{1}{1-\alpha}}(AA^*) + \alpha g_2^{\frac{1}{\alpha}}(BB^*))).$$

Then, we get from the inequality (13) that

$$\prod_{j=1}^k s_j (|A^*B|^r) \leq \prod_{j=1}^k s_j (LM).$$

Since the weak majorization follows from the weak log-majorization, we conclude that

$$\sum_{j=1}^k s_j (|A^*B|^r) \leq \sum_{j=1}^k s_j (X^{\frac{r}{2}}Y^{\frac{r}{2}}).$$

By the Fan dominance theorem, we get that

$$\| |A^*B|^r \| \leq \| X^{\frac{r}{2}}Y^{\frac{r}{2}} \| \tag{14}$$

Using inequality (6), leads to

$$\begin{aligned} \| X^{\frac{r}{2}}Y^{\frac{r}{2}} \| &\leq \| X^{\frac{rp}{2}} \|^{1/p} \| Y^{\frac{rq}{2}} \|^{1/q} \\ &= \| (\alpha f_1^{\frac{1}{\alpha}}(AA^*) + (1-\alpha)g_1^{\frac{1}{1-\alpha}}(BB^*))^{\frac{rp}{2}} \|^{1/p} \\ &\quad \times \| ((1-\alpha)f_2^{\frac{1}{1-\alpha}}(AA^*) + \alpha g_2^{\frac{1}{\alpha}}(BB^*))^{\frac{rq}{2}} \|^{1/q}. \end{aligned} \tag{15}$$

Combining the inequalities (14) and (15) leads to the inequality (12).

COROLLARY 1. *Let $A, B \in M_n(\mathbb{C})$ and $\frac{1}{p} + \frac{1}{q} = 1$, $p, q > 1$, $r \geq 0$. If m, n, u and v are real numbers such that $m + n = u + v = 1$, then*

$$\begin{aligned} \| |A^*B|^r \| &\leq \| (\alpha(AA^*)^{\frac{m}{\alpha}} + (1-\alpha)(BB^*)^{\frac{u}{1-\alpha}})^{\frac{rp}{2}} \|^{1/p} \\ &\quad \times \| ((1-\alpha)(AA^*)^{\frac{n}{1-\alpha}} + \alpha(BB^*)^{\frac{v}{\alpha}})^{\frac{rq}{2}} \|^{1/q}, \end{aligned} \tag{16}$$

for all $\alpha \in [0, 1]$.

Proof. Let $f_1 = t^m$, $f_2 = t^n$, $g_1 = t^u$ and $g_2 = t^v$ in the inequality (12) to get the result.

Note that the inequality (16) generalizes the inequality (9).

COROLLARY 2. Let $A, B, X \in M_n(\mathbb{C})$ and $\frac{1}{p} + \frac{1}{q} = 1$, $p, q > 1$, $r \geq 0$, $\alpha \in [0, 1]$. If f_1, f_2, g_1, g_2 are non-negative continuous functions such that $f_1(t)f_2(t) = t$ and $g_1(t)g_2(t) = t$ for $t \geq 0$, then

$$\begin{aligned} \left\| |A^*XB|^{2r} \right\| &\leq \left\| \left(\alpha f_1^{\frac{1}{\alpha}} \left(|X|^{\frac{1}{2}} U^* A A^* U |X|^{\frac{1}{2}} \right) + (1 - \alpha) g_1^{\frac{1}{1-\alpha}} \left(|X|^{\frac{1}{2}} B B^* |X|^{\frac{1}{2}} \right) \right)^{rp} \right\|^{\frac{1}{p}} \\ &\quad \times \left\| \left((1 - \alpha) f_2^{\frac{1}{1-\alpha}} \left(|X|^{\frac{1}{2}} U^* A A^* U |X|^{\frac{1}{2}} \right) + \alpha g_2^{\frac{1}{\alpha}} \left(|X|^{\frac{1}{2}} B B^* |X|^{\frac{1}{2}} \right) \right)^{rq} \right\|^{\frac{1}{q}}, \end{aligned} \tag{17}$$

where $X = U|X|$ is the polar decomposition of X . In particular, if X is positive semidefinite, we have

$$\begin{aligned} \left\| |A^*XB|^{2r} \right\| &\leq \left\| \left(\alpha f_1^{\frac{1}{\alpha}} \left(X^{\frac{1}{2}} A A^* X^{\frac{1}{2}} \right) + (1 - \alpha) g_1^{\frac{1}{1-\alpha}} \left(X^{\frac{1}{2}} B B^* X^{\frac{1}{2}} \right) \right)^{rp} \right\|^{\frac{1}{p}} \\ &\quad \times \left\| \left((1 - \alpha) f_2^{\frac{1}{1-\alpha}} \left(X^{\frac{1}{2}} A A^* X^{\frac{1}{2}} \right) + \alpha g_2^{\frac{1}{\alpha}} \left(X^{\frac{1}{2}} B B^* X^{\frac{1}{2}} \right) \right)^{rq} \right\|^{\frac{1}{q}}. \end{aligned}$$

Proof. Since $X = U|X|$ for some unitary matrix U , then

$$\left\| |A^*XB|^{2r} \right\| = \left\| |A^*U|X|B|^{2r} \right\| = \left\| \left| \left(|X|^{\frac{1}{2}} U^* A \right)^* \left(|X|^{\frac{1}{2}} B \right) \right|^{2r} \right\|.$$

The inequality (17) follows directly by replacing A , B and r in the inequality (12) respectively by $|X|^{\frac{1}{2}}U^*A$, $|X|^{\frac{1}{2}}B$ and $2r$.

REMARK 1. To see that the inequality (17) generalizes the inequality (10), let $f_1 = g_2 = t^\alpha$ and $f_2 = g_1 = t^{1-\alpha}$ in the inequality (17) to get that

$$\begin{aligned} \left\| |A^*XB|^{2r} \right\| &\leq \left\| \left(\alpha |X|^{\frac{1}{2}} U^* A A^* U |X|^{\frac{1}{2}} + (1 - \alpha) |X|^{\frac{1}{2}} B B^* |X|^{\frac{1}{2}} \right)^{rp} \right\|^{\frac{1}{p}} \\ &\quad \times \left\| \left((1 - \alpha) |X|^{\frac{1}{2}} U^* A A^* U |X|^{\frac{1}{2}} + \alpha |X|^{\frac{1}{2}} B B^* |X|^{\frac{1}{2}} \right)^{rq} \right\|^{\frac{1}{q}}. \end{aligned}$$

If $r \geq \max \left\{ \frac{1}{p}, \frac{1}{q} \right\}$, using Lemma 4 leads to

$$\begin{aligned} \left\| |A^*XB|^{2r} \right\| &\leq \left\| |\alpha U^* A A^* U |X| + (1 - \alpha) |X| B B^* |^{rp} \right\|^{\frac{1}{p}} \\ &\quad \times \left\| |(1 - \alpha) U^* A A^* U |X| + \alpha |X| B B^* |^{rq} \right\|^{\frac{1}{q}} \\ &= \left\| |U^* (\alpha A A^* U |X| + (1 - \alpha) U |X| B B^*)|^{rp} \right\|^{\frac{1}{p}} \\ &\quad \times \left\| |U^* ((1 - \alpha) A A^* U |X| + \alpha U |X| B B^*)|^{rq} \right\|^{\frac{1}{q}} \\ &= \left\| |U^* (\alpha A A^* X + (1 - \alpha) X B B^*)|^{rp} \right\|^{\frac{1}{p}} \\ &\quad \times \left\| |U^* ((1 - \alpha) A A^* X + \alpha X B B^*)|^{rq} \right\|^{\frac{1}{q}} \\ &= \left\| |\alpha A A^* X + (1 - \alpha) X B B^*|^{rp} \right\|^{\frac{1}{p}} \\ &\quad \times \left\| |(1 - \alpha) A A^* X + \alpha X B B^*|^{rq} \right\|^{\frac{1}{q}}. \end{aligned}$$

3. Alternative proof of Audenaert’s inequality

To introduce the alternative proof, we need the following lemma which is nothing but a direct consequence of Theorem 1.2 in [10].

LEMMA 5. *Let $A, B, X \in M_n(\mathbb{C})$ such that A and B are positive semidefinite and let $r \geq 0$. Then the function*

$$f(\alpha) = \left\| \left\| |A^\alpha X B^{1-\alpha}|^r \right\| \right\| \left\| \left\| |A^{1-\alpha} X B^\alpha|^r \right\| \right\| \tag{18}$$

is log-convex on $[0, 1]$.

It is clear that the function $f(\alpha)$ defined in Lemma 5 is convex and satisfies the property that $f(\alpha) = f(1 - \alpha)$ for $0 \leq \alpha \leq 1$. Moreover, it is decreasing on $[0, \frac{1}{2}]$, increasing on $[\frac{1}{2}, 1]$ and attains its minimum at $\frac{1}{2}$. We are now ready to present Audenaert’s inequality alternative proof.

Proof of the inequality (9). Apply Lemma 5 to the positive semidefinite matrices AA^* , BB^* , and replace X by I , to get that the function

$$f(\alpha) = \left\| \left\| |(AA^*)^\alpha (BB^*)^{1-\alpha}|^r \right\| \right\| \left\| \left\| |(AA^*)^{1-\alpha} (BB^*)^\alpha|^r \right\| \right\| \tag{19}$$

is log-convex (and hence convex) on the interval $[0, 1]$, decreasing on $[0, \frac{1}{2}]$, increasing on $[\frac{1}{2}, 1]$ and attains its minimum at $\frac{1}{2}$.

Using Lemma 3, we get that

$$s_j \left(\left| (AA^*)^\alpha (BB^*)^{1-\alpha} \right| \right) = s_j \left((AA^*)^\alpha (BB^*)^{1-\alpha} \right) \leq s_j (\alpha AA^* + (1 - \alpha) BB^*),$$

and so

$$s_j^r \left(\left| (AA^*)^\alpha (BB^*)^{1-\alpha} \right| \right) \leq s_j^r (\alpha AA^* + (1 - \alpha) BB^*),$$

therefore

$$\left\| \left\| |(AA^*)^\alpha (BB^*)^{1-\alpha}|^r \right\| \right\| \leq \left\| \left\| (\alpha AA^* + (1 - \alpha) BB^*)^r \right\| \right\|. \tag{20}$$

Since $0 < \frac{1}{p} < 1$, and using the submultiplicativity of the unitarily invariant norm, we get that

$$\begin{aligned} \left\| \left\| (\alpha AA^* + (1 - \alpha) BB^*)^r \right\| \right\| &= \left\| \left\| \left((\alpha AA^* + (1 - \alpha) BB^*)^{\frac{r}{2}} \right)^{\frac{2}{p}} \right\| \right\| \\ &\leq \left\| \left\| \left((\alpha AA^* + (1 - \alpha) BB^*)^{\frac{r}{2}} \right)^2 \right\| \right\|^{\frac{1}{p}} \\ &\leq \left\| \left\| (\alpha AA^* + (1 - \alpha) BB^*)^{\frac{r}{2}} \right\| \right\|^{\frac{2}{p}}. \end{aligned} \tag{21}$$

Combining the inequalities (20) and (21) leads to the inequality

$$\left\| \left\| (AA^*)^\alpha (BB^*)^{1-\alpha} \right\|^r \right\| \leq \left\| \left\| (\alpha AA^* + (1-\alpha)BB^*)^{\frac{r\alpha}{2}} \right\|^{\frac{2}{p}} \right\|. \tag{22}$$

Similarly, and since $0 < \frac{1}{q} < 1$, we get that

$$\left\| \left\| (AA^*)^{1-\alpha} (BB^*)^\alpha \right\|^r \right\| \leq \left\| \left\| ((1-\alpha)AA^* + \alpha BB^*)^{\frac{r(1-\alpha)}{2}} \right\|^{\frac{2}{q}} \right\|. \tag{23}$$

Combining the inequalities (22) and (23) with the equation (19) leads to the inequality

$$f(\alpha) \leq \left\| \left\| (\alpha AA^* + (1-\alpha)BB^*)^{\frac{r\alpha}{2}} \right\|^{\frac{2}{p}} \right\| \left\| \left\| ((1-\alpha)AA^* + \alpha BB^*)^{\frac{r(1-\alpha)}{2}} \right\|^{\frac{2}{q}} \right\|. \tag{24}$$

Now let $A^* = U|A^*|$ and $B^* = V|B^*|$ be the polar decompositions of A^* and B^* where U and V are unitary matrices. Then

$$f\left(\frac{1}{2}\right) = \left\| \left\| |A^*| |B^*|^r \right\|^2 \right\| = \left\| \left\| U|A^*| |B^*| V^* \right\|^2 \right\| = \left\| \left\| |A^* B^*|^r \right\|^2 \right\|. \tag{25}$$

Combining the inequality (24) with the latter equality in (25) gives

$$\begin{aligned} \left\| \left\| |A^* B^*|^r \right\|^2 \right\| &= f\left(\frac{1}{2}\right) \\ &\leq f(\alpha) \\ &\leq \left\| \left\| (\alpha AA^* + (1-\alpha)BB^*)^{\frac{r\alpha}{2}} \right\|^{\frac{2}{p}} \right\| \left\| \left\| ((1-\alpha)AA^* + \alpha BB^*)^{\frac{r(1-\alpha)}{2}} \right\|^{\frac{2}{q}} \right\|. \end{aligned} \tag{26}$$

Defining $g(\alpha) = \sqrt{f(\alpha)}$ for all $\alpha \in [0, 1]$, and taking the square root for all the sides in (26) leads to

$$\begin{aligned} \left\| \left\| |A^* B^*|^r \right\| \right\| &= g\left(\frac{1}{2}\right) \\ &\leq g(\alpha) \\ &\leq \left\| \left\| (\alpha AA^* + (1-\alpha)BB^*)^{\frac{r\alpha}{2}} \right\|^{\frac{1}{p}} \right\| \left\| \left\| ((1-\alpha)AA^* + \alpha BB^*)^{\frac{r(1-\alpha)}{2}} \right\|^{\frac{1}{q}} \right\|. \quad \square \end{aligned} \tag{27}$$

Note that (27) represents a generalization of (11) for the special case when $X = I$.

REFERENCES

[1] M. ALAKHRASS, *A note on Audenaert interpolation inequality*, Linear and Multilinear Algebra, **66**, 9 (2018), 1909–1916.

- [2] M. AL-KHLYLEH AND F. KITTANEH, *Interpolating inequalities related to a recent result of Audenaert*, Linear and Multilinear Algebra, **65**, 5 (2017), 922–929.
- [3] T. ANDO, *Matrix Young inequality*, Oper. Theory Adv. Appl., **75**, (1995), 33–38.
- [4] K.M.R. AUDENAERT, *Interpolating between the arithmetic-geometric mean and Cauchy-Schwarz matrix norm inequalities*, Oper. Matrices, **9**, (2015), 475–479.
- [5] R. BHATIA, *Matrix Analysis*, Springer-Verlag, New York, 1997.
- [6] R. BHATIA AND C. DAVIS, *More matrix forms of the arithmetic-geometric mean inequality*, SIAM J. Matrix Anal. Appl., **14**, (1993), 132–136.
- [7] R. BHATIA AND C. DAVIS, *A Cauchy-Schwarz inequality for operators with applications*, Linear Algebra Appl., **223**, (1995), 119–129.
- [8] R. BHATIA AND F. KITTANEH, *On the singular values of a product of operators*, SIAM J. Matrix Anal. Appl., **11**, (1990), 272–277.
- [9] R.A. HORN AND R. MATHIAS, *Cauchy-Schwarz inequalities associated with positive semidefinite matrices*, Linear Algebra Appl., **142**, (1990), 63–82.
- [10] J.C. BOURIN AND E.Y. LEE, *Matrix inequalities from a two variables functional*, International Journal of Mathematics, **27**, 09 (2016), p.1650071.
- [11] R.A. HORN AND X. ZHAN, *Inequalities for CS seminorms and Lieb functions*, Linear algebra appl., **291**, 1-3 (1999), 103–113.
- [12] F. KITTANEH, *A note on the arithmetic-geometric mean inequality for matrices*, Linear Algebra Appl., **171**, (1992), 1–8.
- [13] H. KOSAKI, *Arithmetic-geometric mean and related inequalities for operators*, Journal of Functional Analysis, **156**, 2 (1998), 429–451.
- [14] X. ZHAN, *Matrix Inequalities*, Springer-Verlag, Berlin, 2002.
- [15] L. ZOU, *Unification of the arithmetic-geometric mean and Hölder inequalities for unitarily invariant norms*, Linear Algebra Appl., **562**, (2019), 154–162.

(Received May 6, 2020)

Mohammad Al-khlyleh
Department of Applied Science
Ajloun College, Al-Balqa Applied University
Ajloun 26816, Jordan
e-mail: m.khlyleh@bau.edu.jo

Fadi Alrimawi
Department of Basic Sciences
Al-Ahliyya Amman University
Amman, Jordan
e-mail: f.rimawi@ammanu.edu.jo